1.	Sketch a curve which meets the following criteria:
	value / interval
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7. For each of the Following, calcvlate
REU)
) e range of valves of X for which £(x)1s Inceeaging
D F0O=X-4  BFOO=x2-3x+10 eI D= -x2h0x-2
A) PO = KPABXE 1 48x-62 edf(x)= - X *+25x

ISR Lq“;f - 17_7\1
3. Using the funciions from #2, Sind (for eath) the range ofvalugg
Borwhich £(x) 7 decreasing.

4. gProve that £00= IRy ¥x 15 o0 increasing funckon fop all vatu.;

of x . .
©) prov e that £00 = RPR-5KT 1S D decreasing funcion o atl

values o £ X





